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And from it; just as Terumah is with a K’zayis — n>t22 7290 7 72902

OVERVIEW

The &n»92 cites a dispute (regarding one who was 712 w7pi2 %) between the
0°non (who maintain he receives (only) mp?») and °27 (who maintains that he
receives QW >7°a An). *27 derives it through the w" of Xon Xon from N, just
as by a 71 eating 7°122 1m0 he is 2w *71°2 7k A the same is by 79112 Y. The
X3 continues and infers that since the 1n 211 by 712 7291 is derived from
217N, we also need to derive from 72170 (this is the meaning of '71°1') the amount
needed to eaten to be fin°x 21, that just as by 72170 he is required to eat a nN°13 to
be 7inn 21mn,” the same rule applies by 712 7°vn that he also needs to eat a n°> to
be 7n" 21, Our MooIN explains why the X3 assumes that we follow the ruling
of 7M1 71°n N7 as opposed to the ruling of 7INK32 P A7 17.°

Mmoo anticipates a difficulty:
= (8,7 97 TINMNT RINA PI92) (3,88 onan PTNN D 91027 20 Yy 9N

Even though that in the end of =2>7n;7 ®> P79 and in the last =5 of nma» noon -
- S79INA YPINY N3 11T 92D 5297 AINT INPY NN

There is one who says that °29 maintains 579082 9PINY 7719% 117 —

mooIn responds:
=19 NYIINT NHIYM AN NVIND MY PHNT NDIYN NN NINNI YPIN 991D 1PN NIN

However, here we cannot say 79nK2 “PIN; meaning just as by a monetary 79°u»
it requires a WML MW, so too the 79°w» of eating should also require a D MY (but

! Regarding 77°vy» the 77N writes (10,7 XP) "3 WIpn "W ORumM 2¥n 2wnn °> wol, and regarding 37N the 770
writes (0,20 [IMKR] RIP*1) A1 1NN ROI 1OV IR RO
? This is the view of the 231 mentioned on 2,27 77 (not like X Xax who requires a 7LD MWY).
3 This would contradict the statement of 2R 92 X1 27 (on the previous TY) that there is a 7 211 by 7112 Yy
even for less than a n°12.
* When we derive a (general) rule from one case to another (like here where we derive in™ by 72°y» [through a w'"73]
from nm17Nn) there are two options; we can derive the details as well (of this general ruling) from the original source
(in our case that just as by 72170 the 710 20 is only for eating a n°13, the same applies by 712°vn, that the 710 271 is
only n°122). This is referred to as 711 71» N7 (derive from it [the source] the general law [that there is a 7n» 217]
and the particulars of that law [that it needs to be n°121]). The other choice is that we only derive the general law
from the original source, however the details are not derived from the original source, but rather are in accordance
with the principles of the derived law (in our case we derive from 7170 that there is a 7n» 21°17; however the details
are in accordance with the laws of 72°¥n where the 2vm is when there is a 70179 MW [not a n°12)); this is referred to as
711 7 (derive it from the source, however) 71nR2 >PR1 (the details should be as they are in its place; by 72°vn).
> See footnote # 4. Why therefore does the X723 assume that n°122 72°9 A% n°122 7170 7n (which follows the ruling
of 7111 171°n 17), perhaps we should say 77nKX32 *PIXY 731 N7 that by 72°vn the requirement is a 8" not a n°ro!
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not a N°12); the reason we cannot say this -
= 2% ANIINT NDIINN YWIPNT NIIIN NNT

Is because we derive the rule of 712°¥n by eating w7ps (that there is a 1n 21°n)

from the eating of 77219n -
- 5112995 NN NYIYWI XY BN NN 12 1IN IR

So how can there be 70 by w717 79°2X unless there is the same amount as

there is by 77190 n992K, which is a n*> -
- 5191917 X917 5299 19998 AYYINN NN T H510 NIYY 73N INWAY

For by other cases of deriving benefit from w7p7 (besides 19°2R) there is no 0o

even according to °29, except for 79928 of w7psa, for it is similar to ;7219n, where
the 7n°n 211 is only for 779X,

nooIN asks:
- 8N INVA NN ON XY Pw9an X INPN T9axn ON

And if you will say; why does not the X713 explain the difference between 79°vn
and other 7N "Mo°X (for which a 72797 is brought), by saying, they are not the

same; for if you say by other n1x% that they do not bring a 1217 for a 7m, that is because -
- 515 113 1999NT NYYNI NN D99 NYIIN 1153 1D NNT 1Y NN 29N KYY

There is no 710> 2117 unless he ate a 895 NYI58 9722 N912; can you say that by

79own, for even if we require a n31> for anvn 2vn -
- 19991 1919 1959R N9I9NRN NN 999 (x5 nym NININ PIDA N KN

But nevertheless we learnt in a ;73w in 5737357 295, if he combined the 779°v» even
for an extended period he is 2r."> The X723 should have made this distinction to explain

® How is it possible that if one eats less than a n°1> of w7pA (even if it is worth a 70179 M) that he should be 2»n

1N, since the entire concept of 7N by w7pii is derived from 717N, and by 7170 a 77 must eat at least a 113 to be

0% 2.

7 Mmoo (seemingly) disagrees with (717 7"7) >"w1 who states 72y ANMWW WP NXIA2; that there is a 7n"» arn for

7°Tn2 719°Yn even for IR,

¥ Therefore, since the 7nn 211 by 72°9n is only by 79°3X [exclusively (but not by the X371 M0°% of w7p)], which we

derive from ma17n, this teaches us that this is not a rule that conforms to the norms of 77°v» (since it does not apply

to nX37, which is an integral part of 79°vn) therefore we must assume that this rule is exclusively based on the w1

from 770, it follows therefore that in this case we say 1711 77 717, and not 770X PRI 7171 PT.

? See “Thinking it over’ # 1.

' The xax (previously on 2,2% and on this TY) gives various explanations why it was necessary for the 7m0 to

write w32 AXVM to exclude 79°¥yn2 17 from a 127, when we (seemingly) could derive it from all the other o*110°%

where the 727 2117 is only 3w2 and not 7122. Our M201N asks why the X713 did not offer a different explanation.

' The rule by all 77°9X *110°X is that one is not 211 unless he ate a n°t> within the time it takes to eat half (919) a loaf

of bread (which is [the equivalent of] either three eggs or four eggs).

"2 He did not do the 72°v» at one time but rather it was done in stages (i.e. he ate a n°t *¢r and then later after the time

of 075 n?°oX elapsed he ate another n°7 *xm), nevertheless there is a 77°vyn 21m.

13 (Presumably) he will be 211 a 717°v» 12p if he ate it w3, and will be 21 either fin"» (according to °27) or MpP»
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why we cannot derive the 1297 79 of 7112 79°¥1 from the other 2> MOX.

mooIN answers:
11908 NOY 1121991 99537 799919 523 XIINT 91219 W
And one can say; that we can also challenge this assumption by saying that we

should derive 7%°yn from 7170 that it should not be combined over an extended
period, but rather it should be limited to a 015 n%°2X 722 n°12, so (since we can derive from 717N
that w7pn n2°98 must also be 079 N%°aX >722, and 7%°v7 is like all other 2>110°X) therefore the X123
chose another distinction.

SUMMARY
Since the 7in°n 20 by 77°vn is only by 12°0K [exclusively (but not by fX17 MOX)],
which we derive from 77170, therefore we must assume 773°21 773° 7.

THINKING IT OVER
1. What connection is there (if any) between mooin final question,15 and that which
preceded it in this Noo1N?

2. nooIn writes that we can derive 12°vn from 7m0 that we cannot combine two
m2°5x."® How would we then explain the X7»3 in 7°¥n (cited in our mdo1N)'” which
clearly states that by 79"y two NM2°OK are qnv¥n?'®

(according to the 1327) if he ate it 7m2.
' See “Thinking it over’ # 2.
15 See footnote # 9.
16 See footnote # 14.
17 See footnote # 12.
'8 See 0" and X"wAn.
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